niafuln 0000 (%)

82000 Ubugn-gobn

T = 210 10 s s
1 godooooooo o000 boououooo 100 0 0
2 godooooooooo 25 25 50 0 0
3 goooggono 20 0 80 O 0
4 ooooooo 50 0 5 0 0
5 goooooo 20 0 80 O 0
6 goooooooooo 80 0 0 0 20
7 oooo-00000000o0o00o 50 0 50 0 0
8 gooo-000ooooooooon 25 0 50 0 25
9 gooooooooooo 80 20 0 0 0
10 godooogooggo-obog 25 0 0 0 75
11 oot -oo0gobooooboooobd 20 0 80 O 0
12 gooooobo -obobboooooooooooo 50 0 5 0 0
13 ogoooooo 50 0 0 0 50
14 goooooooooooooo-0oo0o 20 0 0 0 80
15 goooooooooooooo-0o0o0o0o00a0 50 0 50 0 0
16 goooooooooooooo-0o0o0oao 20 0 80 O 0
17 gooooooo 0 0 0 0 100
18 goooggono 20 0 0 0 80
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